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          (20 points total)

Name: ______________________________     Date: __________________
     Multiply.  Show your thinking:
1.
8 x 59





2.
5 x 713
(2pts each)
4.      15 x 7 x 4





5.
2,150 x 4
6.
Solve.  Show your thinking:
(1 pt)

(6 x _) + (4 x 3) = 24

 7. 
Which equation shows the same as 7 x 8:
(1 pt)
a.   (3 x 8) + (4 x 8) 
b.   (3 x 4) + (4 x 4)
c.   (3 x 8) + (3 x 8)

        Estimate the product.  Show your work:


8.   57 x 4





(1 pt)
9.   5 x 83





(1 pt)
Solve.
10.  Use estimation to solve:  A small theater has 29 rows of 19 seats in each row.   Can the theater hold all 615 students in Truman Middle School?  Show your thinking.
One possible strategy: Round 29 to 30 and 19 to 20. 

20 x 30 = 10 x 60 = 600. Since 29 x 19 is less than 30 x 20, the theater holds less than 600 students and therefore, cannot hold all 615 Truman Middle School Students. 
(2pts – give one point for using a good estimation strategy and one point for answering the question correctly)

11.  You and three friends go to a football game.  You each order a cheeseburger for $3.50 and a soda for $2.25.  How much does this order cost for all four of you?  Show how you calculated your answer.
Possible strategies: 
	(4 x $3.50) + (4 x $2.25)=

(4 x 3) + (4 x $.50) + (4 x 2) + (4 x $.25)=

12 + 2 + 8 + 1 = $23.00
	OR
	$3.50 + $2.25 = $5.75 so, 

$5.75 x 4 =

($5 x 4) + ($.75 x 4)=

$20.00 + $3.00= $23.00


(2pts- one point for a minor error)
12.  Amanda’s pet collie weighs 63 pounds, which is 7 times more than her friend’s miniature poodle.  How much does her friend’s miniature poodle weigh? Write a number sentence to show your thinking and solve.
Use the number sentence 63 ÷ 7 = _____  OR  7 x ____ = 63.
In either case, the answer is 9 pounds.

(2pts- give one point for writing a number sentence that will solve this problem OR for using a correct operation to solve the problem, and give one point for a correct answer.)

13.
Tell whether 29 is a prime or composite number. How do you know? Prove your thinking.

(2pts- a full and complete answer should not only tell that 29 is prime but also have reasonable justification either by drawing arrays, explanation from the class rules established in the unit, or by use of nonexamples to compare.)
